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QUESTION 1

Which information can the user access from an HP Array Diagnostics Utility (ADU) report? (Select two.) 

A. array accelerator status 

B. outstanding I/Os 

C. Reserved Information Sector (RIS) data 

D. test connection rate 

Correct Answer: AC 

 

QUESTION 2

What is the maximum number of c3000 enclosures that can be installed in a 42U rack? 

A. 4 

B. 5 

C. 6 

D. 7 

Correct Answer: D 

 

QUESTION 3

How many months is the support duration for a Server Pack for ProLiant versions release? 

A. 6 

B. 12 

C. 18 

D. 24 

Correct Answer: B 

 

QUESTION 4

Which utility can you use to analyze application crash dumps on a Windows server? 

A. System Event Viewer 

B. Snort 
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C. DrWatson 

D. Postfix 

Correct Answer: A 

 

QUESTION 5

A customer is experiencing drive encryption issues with a BL490c Server Blade running Microsoft Windows Server. The
Trusted Platform Module (TPM) is suspected as the cause. What must be done to replace the TPM? (Select two.) 

A. The TPM must be cleared. 

B. BitLocker must be disabled. 

C. The TPM Visibility option must be set to hide so it is not visible to the OS. 

D. The TPM must be replaced, as it is a customer installable option. 

E. The TPM and system board must be replaced at the same time. 

Correct Answer: BE 
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